
HW 18 Answer key

1. y
'
__ • ¥ - ellnxt ? # + e. ¥ + Otte to + flux)e×te×

2. f' lxtseillnllt ✗4) . 11×2 ' 12×1+1+4
,
>
✗

• Zcosxitsinx) -5 Unlit ✗45T¥, / 2×3

3. Y' = ¥ /¥) 12×1 tseix -
I

211+5×1
" ¥

4. °¥×= 5? Uh 5)

5. ¥
,

= faux )× / + enltanxl)

6. 1-
'

txt e-
""f- cosx) - e (sink ))? cos /ex)e×

I
7. g

"

1×1=2✗☒
+ ¥

8. Absolute Max Value f- 1- 1) = e

16 . { In 5 0% lnrs
g.
-9-

- lnlxltc
✗

h . e÷× + 2x +e + c

10 . §

11 .
I - lute -11 18 . FIX / = - ¥

12 . 2

19
. Y = 2×1-2

13 .

-b- In / cos / 3×1 / + C

20
. y

= -2-9×+2%-3 + §
14 . lnl} ) or

, Yen /3)

15
. } + ln3


